                       Winter Break –Math Review
Name____________________                           Date__________________
1.  Is (4, 3) a solution for the following system of equations?

                               y = 3x - 9
                              y = -2x + 8
2.  The graph of the equation 3x – 2y = 5 passes through the point (3, y).  What is the value of y?

3. Jenn went to the movies with some of her friends.  The tickets cost $12 each and they spent $17 on snacks.  The total amount they paid was $161.00.  How many friends went to the movie?
4.  Find the value of x       4k - 3k -12 = -2(k - 1) 
                            

5.  Write the equation of a line with a slope of -3 and that goes through the points (-1, 4)?
6. Rakeem wants to put a fence around his yard which is in the shape of a rectangle.  The length of his yard is 2 feet shorter than triple the width.  If the perimeter of his yard is 80 feet, what are the dimensions (length and width) of his yard 
7. On the grid below, solve the system of equations graphically for x and y.



2x + y = 0    and          2x + y = 2
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8. Solve algebraically for [image: image4.png]: 3(x+1)—3x=12—(4x—3)



 . Show all work.
8. Solve the system by Elimination
3x + 2y = 6 

x + 2y = -2


9. What is the equation of the following line. 

Slope _______________

Y-intercept ___________________

Equation in Slope – y-intercept form 

__________________________________________

10. Giovanni has $404.13 in his bank account and he starts spending $3.21 every day on coffee. Rebecca starts with $141.41 in her bank and adds $5 each day to her balance. Use the system of equations to find when they have the same amount of money. Solve by Substitution
m = 404.13 - 3.21d

Let d represent the number of days.

m = 141.41 + 5d

     Let m represent the amount of money in dollars
11.  Braeden’s army of tin soldiers is set up in a linear path from coordinates (-4, 7) to (10, 14).  A cannon ball is shot from (7, -7) to (-7, 7).  Find a linear equation to represent each path and solve the system of equations to find where the canon ball hits the tin soldiers.
Equation 1    ______________        Equation 2 _______________________
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